nctation vs lambda notation

5 B XY o Namdm: XxV =¥
: b takdog myfa, i) = a and wp(a.b) = b for (oub) & X = ¥
E Lot Zheasct ad f0 2 < X apd g & = Y, Show that there 1s a unigue H
function b+ & — X = ¥ such that = g aml w0k =g E— |
— |
X ' ¥
.
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Drisjoint umion
Frequently we want o join sets together bat, in o way which, unlike unson, does:
ot identify the same clement when it comes from different sets. We do this by
making copies of the elemsemts so that when they are copies from different sets
they are forced to be distinet:

Kyt Npwo o Xy = ({1} = X Ju ({2} = g f[mf = Xo)

I particular, for X thecopies ({1} 2 8) and ({2} = ¥ have b be bisoin,
i the sene Ll

(f1p = X1 ifz} = v =0,
Becags any cotmmen ebement wonld bioa palr with fisst elensnt bath equal te
1 and 2, clearly impossibde.

Exercise 4.3 Lot X and ¥ be sets. Define the injections
fngy t N = XY and fnjg: ¥V = XY
oy kit indylod = (Lo} for o £ X, and ingglh) = (2,0) for b ¥,

Lot 2 b s set anel [0 8 — F ool g0 ¥ — 2 Show that there & oo unigue
fanction b XY — 2 aich that beingy = F ol b0 ingy = o
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Exercise 4.8 Use .lafubc_la,_ nota.tiol}. to descri_bel.)ij_ectious'

[(AxB)—Cl=[A—(B-C),

<
a )
A= (B=C)=[B—(A—0). 8( ’ 'D c
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Exercise 4.9 Describe explicit bijections

[(AwB) = C1=(A—C)x (B—C),
[A— (BxC)=(A—B)x(A— ().



